1.

Q% O 5= FoHA L.

36:27=(36+9): (27+@)=4:0

® 10 @ 11 ® 12 @27 ® 81

B

v o] A& F 00] obd 22 £& Lol H] 9] g2 Z5 U
36 7 27 9] Htf-5oFQl 95 EZ o] Uiro] Fojof stn
=9, ©= 344t

9Ix3 =27




1 7Hdy e

® mA

[~

oy o o)y H
Hlo o]l TR ol
N B RS
T
@006




[ sl B012 271 7P 2 AL o|= AR BEAL
@2:5_6 D @i:%=5:D
®3 49:D57 @D:QZQ%:Qb
@16:15:D;1£

@2:5:6:|:’

2x[ |=5x6

[]=30+2=15

11

@Zg:5|:’

1 1

ZXDZEXE)

[J=1x4=4

®3:49=[ ]:7

30:49=[ ]:7

49x[ ]=30x7

D=210+49=4§

@D:2=2%:2.5

Dx2.5:2x2%

[ Ix25=5,] |=2

@16:15:‘3:1%

15><\:|:16><1§

[]=30+15=2

wheta], [ ] ¢tell 017 $71 71 2 AL YUt




4.

ol o FAMST 8 B SolA detE 27) AEUth @
M@= QFEEE A3, 1 FolA 30 %7 ST o 447} 60
EpAo] Aok 918 B A AAA FakAlL

'L rlo




<
%
<+
el
mn

iN
o

o

]

jup|

o)

<k

“u

Al
!

NI
mjn

=
a

5.

Aol a—e—

.é.l_

o =

1t =

2]o

3 7l e kol 2400

SHA ..

Yt Zﬂ*kioﬂ E

o]
=

uhelx] 7

sfel 171 2

(&

CEEESEF ¥

— |t

)

= x 2400 = 800 (¢

1
3

fol 2 170 @)=

9|

(=




e B/IURE S mope vehd Ayt B7uRe] e
ol Aol & /| o W22 AR AL (T, vE Y 919
S 7 Aale] Hol Qe 7R el Sdutt)
BUIREE <>
< S
S>> <>
S ©
» &
> il
ESI= )
> =g 27

B

@: 670 (1%)+470 (22)+1 70 (3%)= 11(7)
©O:3+1+2+1+1+1=9(7H)

w2bA] 11 -9 = 2(7H)

Q9] &7 7t 2 7] o Byt




o] oF ojA] E moko] thew} 2 AR g utsa 1 o
‘r;I, i, _u.O" 1 - [¢) = E 1 ©°

BNRE B R A7 B ag] oA 2.

| 2
> He 57

A7|GE ALE2+14+1+1=5FYth

| 1




A7) 590 dH o] Woll 439.6cm? YUt} o] Yr|5o] RulE




